| dE/dx estimator 1 |

| dE/dx estimator 2 |

Entries 46958 Entries 46958
B : : Mean 3.352 0.3 C = T Mean 3.131
L : : Std Dev 0.7804 e Std Dev 0.8103
0.25[ it RS RN IR SRR | C L]
B : : Entries 46760 L : : : Entries 46760
r : : Mean 3.355 0.25 it o P fooeeeedee] Mean 3.132
L : : Std Dev 0.7787 C : : . | Std Dev 0.8055
0-2__"":‘"""‘: """ L R A A r : : :
R -1 R R R 0.2t b bl —
O] Al B I S S S S S St N g
L 0.15 R R B et S SR greee
3 01_— """"""""""""""""""""""""""" feeees
L 00 o e L ] s e S S SRR P
L OJ--\.Q - Lol I Ll + 1111 ! 1111 ! 1111 : 1 T L ! Lkl
2 1 :
= 1
x
________ -
+ S D0 O o 08 2111 1 S 2
1 2 3 4 5 6 7

8 9 10
dE/dx, trunc40

8 9 10

3 45 6 7
dE/dx, harm?2

—=— DQM_CKF_XiMinusNOPU_base

—e— DQM_CKF_XiMinusNOPU_retrainOldFiles125 v2_ prelimWPM_epoch4
. . T T T T T CTiaeS 46958

----- AR SRR AR SRR i 1Y/ [=F-T) 0.7716
: : : : : |_Std Dev 0.9859
: : : ]
: : : : ¢ | Entries 46760
------ e N I Y[ %=1 0.7747
: : - : . | std Dev 0.989

TS FUJ00

™ T R [V 8.926 0.5
- ] : : : : |_Std Dev 4.243 ;

. ] : : : Entries 46760
i Y ST S el .| Mean 8.95 0.4}
: : : : i [ Std Dev 4.241

......................................................................

By == e e

0.3

...................................................................

o e e

0.2}

I

....................................................................

L el e |

095510 " 20 30 40 50 60 70 80

dE/dx number of measurements with saturation

0.95

0 10 20 30 40 50 60 70 80
dE/dx number of measurements



	Contents
	Page 1


